N = 0l & AF & F Al A

20118 = =04 LBESI A JIEtS 83 H SAICIXRI ~ S AICIAHe! 0t

A ZAICIXH 0t

B zY2 289 Hel ZHAY
ool ZYR 2stol el ZAAY (el @R
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i SImE=ET
S AICIAEQ! 1,974,921 1,194,719 780,202
SLUZ F32 el ZLAMY 1,204,320 0 1,204,320
SYZ 232 AHel Zd MY 1,204,320 0 1,204,320
SYZ 232 el Zd MY 1,204,320 0 1,204,320
401 Al&HIZL=ROHYI ,204,320 0 1,204,320
01 Al&HI ,200,000 0 1,200,000
OZEL22519Hal 28 AF! (L=320m,B=12n)
1,200,000, 000& * 14| ,200,000
03 Al R4l 4,320 0 4,320
OAl £ 20l 1,200,000,000& *0.36/100 4,320
S AIS2 CIAe 504,210 1,024,017 A 519,807
Z =84 102,790 119,344 A 16,554
sHZ L= JHl 54,800 62,600 A7,800
201 LetE2EHl 500 3,500 A3,000
01 AtR 22l 500 3,500 23,000
O1 L= 500
>EHZDE HIIX(HO0IE S)
5,000& = 1004 500
202 Oddl 4,800 3,600 1,200
01 WY 4,800 3,600 1,200
OgggneHsA2 ZFY|
400,000& 123 4,800
206 M=l 500 0 500
01 MHZ bl 500 0 500
o33 7 500,000 *144 500
301 LetEaag 40,000 49,500 29,500
12 JIEtE 4= 40,000 49,500 9,500
Osgzalss) ANUEAS(HE, M, HE
) 40,000
>ES 100& *100, 000 0H 10,000
D& 20& 1,000, 0000H 20,000
DM 5&+2,000,0000H 10,000
307 2120l & 9,000 6,000 3,000
05 2IRAE =S 9,000 0 9,000
SEEEnEE 9,000
PAF HE EEH(ZEHER)
45,000& *200H 9,000
ZDSHAANE &= 32,500 42,124 A9,624
401 Al&HIZL=RHYI 32,500 40,324 AT,824




S AICIARQI It
P EAS2 A
D D=3

N BT (3H) - MEAIY - B2 A} OH &EIE Ho=2t
cSH I T2 ° . [= Bl e =5 0:”/|l|,% Lsa
01 Al&HI 32,500 40,000 AT,500
OZIDE=HAMAIE 10,000, 000 14 10,000
OHEHEANAE 1 3,000, 0002 *5I4 2~ 15,000
O =2 A AT HAZA
7,500,000 *14] 7,500
ZDSH2RAS 23 1,890 3,720 A 1,830
201 €Et23| 1,890 3,720 A 1,830
01 AbR22lH| 1,890 3,720 A 1,830
O3 28=¢ 1,890
DZNEHDIISA &+
70,0003 621 x23] 840
DEINSAORAR/}S| HFAH
70,000& x521x33] 1,050
e 22 13,600 10,900 2,700
201 LBt 10,000 5,000 5,000
01 AFR 22l 10,000 5,000 5,000
O1 Et=ZH| 10,000
DZIONSAEM AEIH ME
5,000,000& * 14 5,000
D=ednsE Jtolsetel M
5,000, 0002 =14 5,000
202 O4H| 3,600 3,600 0
01 =LHOA b 3,600 3,600 0
SAFNE QSIE R FAWLI
300,000& x12& 3,600
CIXteld == =4 67,560 70,540 A2,980
CIACIAFTEZRE 61,600 61,600 0
201 LBt 3| 5,600 5,600 0
01 AtE222|Hl 5,600 5,600 0
O1 et=ZH| 5,000
DLCXCIAFTEZ2ME SE=HH
5,000, 0002 =14 5,000
O3 28=¢ 600
DESCANAFAHEAG s S LAY
200,000& »33] 600
202 O4H| 4,800 4,800 0
01 =Wl 4,800 4,800 0
OLXNUIFETZ2MEAR FAOH|
400,0003 x12& 4,800
301 LEEAZ 3,200 1,200 2,000
10 EALAHIZEAS 3,200 1,200 2,000




A ZAICIA 0t

M CAIS2 OAel

el Ol &4 (&9 HM
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH lOﬁ/l\_Fo” Hlw &2
OSSLUXFAEOg EHAMXE A
60,0002 *1091 23] 1,200
OAQICIRAAZS EHATIEA 2,000,000 14! 2,000
307 QI2t0IA 18,000 20,000 22,000
02 BltAAEX 18,000 20,000 22,000
ORFAl 330N 2 Al
10,000,000 * 14! 10,000
OANBCIIAZE 23 8,000, 000& 14 8,000
402 2IZHX =01 A 30,000 30,000 0
01 BIZHGEEX 30,000 30,000 0
ORISR CIX B ALY X
10,000, 000& *2J4 A 20,000
OZM==CIAeld K& 10,000,000& *14! 10,000
ClIXoI=Tt2t 29 5,960 8,940 A2,980
201 LBt E 5,960 8,940 A2,980
01 AtE222/Hl 5,960 8,940 A 2,980
O3 2g+¢ 5,960
DRFASICIRL AJS e
70,0003 x1721%43] 4,760
DRAFASICIRNLARS AT L&
60,000 x52! %43 1,200
SAZ2A 9,600 513,660 A 504,060
A 222} 2F 6,000 6,460 A 460
201 et 6,000 6,160 A 160
01 AtS 22l 6,000 6,160 A 160
O3 2g8=¢ 6,000
DRFA 2T A
70,0002 *62!+103] 4,200
DRFA RS AL 24
60,0003 321103l 1,800
SANZE2 x4 3,600 3,600 0
202 O4Hl 3,600 3,600 0
01 =Wl 3,600 3,600 0
OZ2MY P2 F& 0 300,000 *12& 3,600
Jt2 ZHl 324,260 296,873 27,387
t2==EESE NS 324,260 296,873 27,387
201 LBt 3| 12,968 13,239 A271
01 AtS 22l 7,760 7,900 A 140
O1 git=2H| 3,800
DEIIGHMEH =S (SSAE 20HL)
2,800,000% * 14! 2,800




24 TACITD
Ha: CAIB ORel
el IR |

SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- o= T ° . [= Bl e =5 0:”/‘l|_% Lsa
DLENES B9 2T HE
100, 000& 104 1,000
06 A=z 3,960
Do EHHSEE AIRA 330,000& «12& 3,960
02 22234l 5,208 5,339 A 131
O1 2222 % HA 4,060
DL AIRA MIIQB(2MHA)
80,000& x12& 960
DEFAMNERES(ESAE)
550,000 24 A *23] 2,200
PuSeY 2FY3(S2AIE) 900,000 14! 900
Oz A=zl 1,148
DA AFRA(200 )
Q063 *x2CH*8A| 2hx72L 1,148
202 Oidl 4,800 4,800 0
01 =LHA b 4,800 4,800 0
OJI2EHIY R =X 400,0003 x12& 4,800
307 gI2told 271,492 245,304 26,188
05 CIZtRIEZ 271,492 245,304 26,188
O#AI-EE= S| (AQY 2R2HH =2
H2ZI|, et 2t M, ==0t=EH)
84,558 2001 x2 x53| 16,912
OZSAME 0r2t3dl 89|
1,592,000 421« 1201 & 76,416
OL3Hs ¥ LAEX2 FHl 89|
2,121,000& *721 «12JH & 178, 164
401 AlEHIZ 2 35,000 22,150 12,850
01 Al&t| 35,000 22,150 12,850
Ois SSAE =E2 WH3A
20,000,000 *14] 20,000
OZ2AME Ald2 |22l 15,000,000 14! 15,000
MEEs 168,340 73,260 95,080
LHEHeHXIE (S AICIXHQl 1) 168,340 73,260 95,080
2 NFHIIIZ MNES 168,340 73,260 95,080
702 D128 E= 168,340 73,260 95,080
01 JI=sd&E3 168,340 73,260 95,080
OSAZNE sl ) =22
66, 180,000 * 14 66,180
Oo=szisaely At 18,600,000 14 18,600
O=sAZIANY =23 83,560,000 *14] 83,560
HE2HZHI (S AICI Xl ) 98,051 97,442 609
ol 2HH| 49,217 51,180 A 1,963




SA AT
A

Y YA (ZAICIACID)
chel: ol (el a2
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
A2 A| 49,217 51,180 A 1,963
101 el H] 49,217 46,980 2,237
01 E= 49,217 46,980 2,237
OANZte 2RSS 7,457 %2221 x300A| 2t 49,217
Jl2&H| 48,834 46,262 2,572
JI=&Hl 48,834 46,262 2,572
201 Let2g| 27,594 27,342 252
01 AtE22/Hl 22,344 22,092 252
O1 get=ZH| 16,800
DEA2E 2 1,400,000& x12& 16,800
05 =gl 5,544
DOt R22%F 7,000 x2221%33| x 12 5,544
02 =234l 5,250 5,250 0
O1 22232 £ MA 5,250
DRERS 1,750& 25024 123 5,250
202 O4Hl 17,040 16,320 720
01 WY 17,040 16,320 720
OJl2gf=d0tl 1,420,000& 123 17,040
203 HRF&Hl 4,200 0 4,200
04 BEASIHFFEHI 4,200 0 4,200
ORAN2IHRFAHI 350,000& «12& 4,200




